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RS 5 E=S a5t HHEH
FF R BT 234 253 487 206
FFHhE—TE 342 432 774 399
FFRBI—TE 257 249 506 237
FFHBI=TE 288 316 604 264
FERRTE T E 697 833 1,530 732
FEETRETH 1,205 1,402 2,607 1,161
FFHETRTH 1,352 1,490 2,842 1,128
FFERTETH 535 635 1,170 513
FFHET/\TH 191 197 388 227
IE¥B—TH 187 237 424 222
EFRT—TH 1,008 1,110 2,118 1,008
F# /O 8T 311 339 650 267
MBI—TH 486 557 1,043 528
MSET—TH 1,479 1,747 3,226 1444
MSBI=TH 486 525 1,011 419
MKETETH 515 520 1,035 469
/NERT 778 815 1,593 640
/NHET—TH 107 111 218 102
INARTZTH 837 865 1,702 738
/INART=TH 219 230 449 173
M 417 595 1,012 519
FMBI—TH 245 247 492 234
FMET=TH 356 360 716 286
5 12 H] 1 1 2 1
S1EETI—TH 443 480 923 400
SERI—TH 373 501 874 425
=30 767 848 1,615 692
= BRHET 331 365 696 300
R HET 355 347 702 297
— & PRET 227 264 491 202
[ A< BT 1,024 1,113 2,137 958
LI BT 1 0 1 1
UERT—TH 344 379 723 313
LRI —TH 350 383 733 256
UERT=TH 368 383 751 286
FAERT—TH 274 297 571 271
YRAERT—TH 638 733 1,371 599
PRAERT=TH 190 227 417 187
AR T B 427 422 849 245
EEH 220 184 404 172
EZER—TH 402 466 868 381
EER_TH 298 359 657 293
EER=TH 633 698 1,331 624
EERIMTH 56 67 123 58
{BHAHET 503 33 536 529
BABI—TH 847 950 1,797 838
BARI=TH 1,019 1,303 2,322 1,166
BXRI=TH 560 574 1,134 528
BARETETH 847 884 1,731 858
BXABRTATH 574 601 1,175 571
{BAXBIARTH 367 407 774 436
sth_E HT 341 306 647 363
M EET—TH 222 217 439 298
tHEET=TH 478 456 934 485
M EET=TH 462 524 986 494
st EETEAT B 281 277 558 251
st A BT 3,682 3,809 7,491 3,103
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EHEY) 5 £ a5t HHEH

EEN) 455 468 923 368
[KEBRI—TE 456 454 910 374
RERTZTE 634 743 1,377 600
KEEI=TE 1,241 1,364 2,605 1,180
[KEBTET E 418 437 855 390
RKERTRETH 1,240 1,442 2,682 1,373
E) 4,126 4,360 8,486 3,491
WSEH—TH 427 456 883 353
WAREH-TH 597 638 1,235 504
WASEB=TH 1,976 2,155 4131 1,621
WAEHIETH 1,475 1,667 3,142 1,112
WSEHATH 511 582 1,093 439
(=] 5> BT 422 450 872 380
S HT 228 243 471 214
FHIEHET 360 384 744 307
= FRHT 661 711 1,372 572
#0 H ET 770 790 1,560 616
A EET 269 253 522 238
s AT 702 696 1,398 540
FHET 1,256 1,182 2,438 976
S HRHE 152 160 312 138
DEHHF—TH 1,026 1,105 2,131 828
NEHH=-TH 1,231 1,259 2,490 954
NEAH=TH 568 606 1,174 519
FEE—TH 451 502 953 411
FEE-TH 715 792 1,507 593
FEE=TH 608 730 1,338 580
FXBE—TH 842 900 1,742 782
FSEBHEZTH 1,217 1,305 2,522 1,092
XBH&E=TH 1,161 1,240 2,401 1,228
IO E—TH 1,407 1,329 2,736 757
[TOAEH—TH 1,354 1,500 2,854 991
IONAEH=TH 848 903 1,751 517
E2OAEIETH 121 146 267 86
IO EARTH 551 589 1,140 325
[E2AENRTH 614 627 1,241 359
AHT=E—TH 434 445 879 295
HT=B_TH 581 563 1,144 340
ANHEB—TH 332 335 667 328
RNHEBT—TH 554 573 1,127 429
ANEBT=TH 575 591 1,166 459
ANHBTETH 308 344 652 242
EEE—TH 966 993 1,959 805
EER_—TH 823 832 1,655 803
EER=TH 743 753 1,496 560
EERETH 270 285 555 271
HFMEI—TH 342 347 689 350
EWMEI=TH 362 360 722 271
HEWBEI=TH 288 288 576 229
ERETMNTH 231 210 441 211
EMBETATH 431 434 865 384
ERMBIATH 380 424 804 352
FHAET 2 5 7 4
FHEB—TH 224 232 456 227
FHBI-TH 598 706 1,304 607
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EHEY) E=S a5t
FHAET=TH 161 184 345 138
&7 E—TBH 241 272 513 221
o EZTH 638 705 1,343 589
#x7E=TH 198 227 425 168
FHUE 1 1 2 1
HPHEFHF—TH 24 22 46 42
E=KJII BT 149 169 318 136
= 1R T 215 228 443 194
A FHHET 370 361 731 365
Nl 435 451 886 386
WAEFHE 193 190 383 175
T/ AT—Y—TH 1 1 2 2
THO/AT—V=TH 8 0 8 8
L HT 275 284 559 234
/NEp FH BT 259 293 552 237
T=H 196 213 409 189
L stfr T 356 359 715 315
B LI BT 6 3 9 5
Jt EH pET 178 197 375 170
fit] BT 98 96 194 86
LR ET 107 112 219 93
EIEMAT 125 135 260 117
f238ET 354 373 727 300
A 0 FI BT 134 133 267 117
A SR ET 214 228 442 197
REFHT 185 176 361 173
x=—TH 180 190 370 247
=_"TH 430 548 978 579
E=TH 460 574 1,034 591
$HT 93 90 183 83
EFET 101 121 222 100
EHE—TH 259 306 565 265
EHE-TH 180 190 370 173
AHT 795 873 1,668 810
= FAET 1 0 1 1
EME—TH 464 496 960 468
EMEIZTH 488 520 1,008 555
EMEI=TH 420 437 857 463
LHT 1,822 2,053 3,875 1,736
BN 7 8 15 9
BNER—TH 398 385 783 403
BNERC-TH 768 746 1514 737
ENER=TH 717 604 1,321 540
L HET 1,149 1,244 2,393 1,112
T FHT 800 799 1,599 671
EFFEH—TH 116 147 263 136
FFE—-—TH 323 314 637 320
FFHE=TH 386 423 809 412
/NEFHT 65 84 149 70
gElLUE—TH 567 647 1,214 543
B2l _TH 1,320 1,327 2,647 1,643
BlLE5=TH 1,293 1,436 2,729 1,353
E%IJ.I"E.‘TE 422 490 912 381
&t 89,116 95,276 184,392 80,831
it GLEIADRAZED) 1,384 1,216 2,600 1534
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